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Ideals for irreducible componentfbf Xpar

I = (w® + v+ = 2u—1)

* 1 irreducible components of dim¢ = 0, with total 55 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(iii) Cusp Shapes = 4u’3 + 4u®% + .- — 4u — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Y
€1 w43+ du—1
Co,C7 uP et 4 —2u—1
c3,Cq,C8 u -t u—2
Cs5,C6, C10 u55+u54+...72u71
C11
Cg, C12 u55—11u54+~-~+8u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
! y*? —13y° + -+ 68y — 1
c2,C7 Y 431y ey — 1
C3,C4,Cg y55 —57y54+--~+293y—4
€5, C65 C10 Yy — 61y oy — 1
C11
C9,C12 y55+23y54+"~—36y—1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.102308 + 0.9939271

—1.51781 + 1.353571

—14.4750 — 4.23041

u = —0.102308 — 0.9939271

—1.51781 — 1.353571

—14.4750 4 4.23041

u = —0.485253 4 0.8776541

—4.60903 — 0.503941

—9.84299 + 3.206221

u = —0.485253 — 0.8776541

—4.60903 + 0.503941

—9.84299 — 3.206221

u=0.479095 + 0.9289301

1.53724 + 2.734211

—6.40413 — 2.994881

u= 0.479095 — 0.9289301

1.53724 — 2.734211

—6.40413 + 2.994881

u = —0.328532 + 0.9980331

—3.02866 — 2.737751

—17.4070 4 6.39201

u = —0.328532 — 0.9980331

—3.02866 + 2.737751

—17.4070 — 6.39201

u=0.116890 + 1.0652201

—8.61843 — 3.302491

—17.5441 4 2.14031

u= 0.116890 — 1.0652201

—8.61843 + 3.302491

—17.5441 — 2.14031

u = —0.491393 4 0.9608671

1.09428 — 6.520241

—8.28646 + 9.914321

u = —0.491393 — 0.9608671

1.09428 + 6.520241

—8.28646 — 9.914321

u= 0.503891 + 0.9836181

—5.90815 + 9.048071

—12.0898 — 8.53161

u= 0.503891 — 0.9836181

—5.90815 — 9.048071

—12.0898 + 8.53161

u= 0.243423 + 0.8545161

—0.623812 + 1.2098601

—7.64614 — 4.902681

u=0.243423 — 0.8545161

—0.623812 — 1.2098601

—7.64614 + 4.902681

u = —0.870822

—14.9278

—15.7210

u= 0.333283 + 1.0823107

—10.49970 + 3.349601

—17.9466 — 4.05271

u=0.333283 — 1.0823101

—10.49970 — 3.349601

—17.9466 + 4.05271

u = —0.861168 4 0.0727291

—10.59330 4+ 8.292271

—12.98061 — 4.577401

u = —0.861168 — 0.0727291

—10.59330 — 8.292271

—12.98061 + 4.577401

u = 0.845961 + 0.0685411

—3.20212 — 5.708121

—9.97360 + 5.975451

u= 0.845961 — 0.0685411

—3.20212 4 5.708121

—9.97360 — 5.975451

u = 0.840103

—6.53703

—14.4920

u = —0.825031 + 0.0579291

—2.24307 4 1.860741

—7.46523 4 0.061311

u = —0.825031 — 0.0579291

—2.24307 — 1.860741

—7.46523 — 0.061311

u = —0.514519 + 0.5901317

—3.81103 — 3.612331

—7.78381 + 3.892271

u = —0.514519 — 0.5901317

—3.81103 + 3.612331

—7.78381 — 3.892271

u=0.503991 4 0.5231961

2.66446 4+ 1.328171

—3.49967 — 4.016621

u= 0.503991 — 0.5231961

2.66446 — 1.328171

—3.49967 + 4.016621




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u

= 0.726197

—7.37532

—11.5790

= 0.572655 + 0.4254821

—4.35800 — 4.757761

—8.70806 + 3.366801

0.572655 — 0.4254821

—4.35800 4 4.757761

—8.70806 — 3.366801

0.463308 + 1.2018601

—10.77920 4 4.409541

0

0.463308 — 1.2018601

—10.77920 — 4.409541

0

= —0.530920 + 0.4621451

2.47339 + 2.359701

—4.46729 — 4.222911

—0.530920 — 0.4621451

2.47339 — 2.359701

—4.46729 + 4.222911

U
U

U

U

U

U

uw = —0.431213 + 1.2277001 —6.07588 — 2.539231 0
u = —0.431213 — 1.2277001 —6.07588 4 2.539231 0
u= 0.423975 + 1.2399101 —7.15358 — 1.275191 0
u=0.423975 — 1.2399101 —7.15358 4 1.275191 0
u = —0.485017 + 1.2197001 —5.68867 — 6.602931 0
u = —0.485017 — 1.2197001 —5.68867 + 6.602937 0
u= 0.459979 + 1.2326401 —10.22260 + 4.634191 0
uw=0.459979 — 1.2326401 —10.22260 — 4.634191 0
uw = —0.421595 + 1.2497501 —14.6184 + 3.81611 0
u = —0.421595 — 1.2497501 —14.6184 — 3.81611 0
u= 0.492780 + 1.2259901 —6.65767 + 10.546601 0
u= 0.492780 — 1.2259901 —6.65767 — 10.546601 0
u = —0.497583 + 1.2315301 —14.0678 — 13.19611 0
u = —0.497583 — 1.2315301 —14.0678 4 13.19611 0
u = —0.464095 + 1.2484801 —18.7025 — 4.75011 0
u = —0.464095 — 1.2484801 —18.7025 + 4.75011 0
u= 0.653534 —7.36372 —12.0180

u = —0.350221 —0.718328 —13.6840




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 u? + 310+ du— 1
C2,C7 WPt —2u—1
C3,C4,C8 u?® -t u—2
Cs, Cg, C10 u55+u54_~_”._2u_1
C11
Cg, C12 uP — 11wt 4+ 8u—1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
“ Yo — 13" + . + 68y — 1
55 54
c2,C7 Y+ 31y -+ 4y -1
€3,C4,C8 yP5 — 5TySt 4. 4293y — 4
Cs, Cg, C10 y55—61y54+---+4y—1
‘1
Cg, C12 y55+23y54+~~ *362/71




